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J2N 3t 4, 130. 98 1, 336, 023 633,550 21| 703| 18,869| 354| 40.6] 21,113| 280 10| 952 56| 28, 270| 17, 057 585| 206| 347|7,432|1, 269 17| 1,357
E & 405. 86 411, 505 206, 621 1 70| 2,581 69| 42.6| 2,944 34 0| 111 0| 5,792| 3,896 254 29 191 926 510 8 150
e it R T 426. 01 246, 441 121, 508 1 61| 1,605 32| 42.8| 1,920 53 2 40 9| 5,167| 3,812 163 24 17| 907 68 0 176
= 82. 96 44, 386 19, 866 1 24 618 8| 32.8 639 18 0 14 5[ 1,286 876 13 4 1| 327 50 0 15
aOH 341. 79 135, 869 60, 745 1 78| 1,538 11| 36.9| 1,700 24 0 58 71 4,285 2,975 93 30| 102| 777 104 0 204
. N o) 126. 73 97, 336 44, 165 1 15 576 19| 40.5 700 14 1 21 21 1,669 1,239 31 1 11| 215 63 5 104
N S ] 235.12 30, 265 13, 860 1 30| 1,027 16| 42.5| 1,079 11 0 78 0 623 192 0 0 3| 402 20 0 6
s W™ 130. 55 22,137 10, 138 1 23 845 17| 42.4 899 12 0 53 1 487 127 0 4 5| 274 77 0 0
B 707. 42 29, 663 14, 922 1 52| 1, 460 71 42.8] 1,600 21 o] 112 5 459 23 0 3 1| 369 2 3 58
= il 139. 42 25,977 11, 662 1 32 894 39| 39.6| 1,020 7 0 61 3 681 0 0 0 0| 672 0 0 9
SR = 420. 12 36, 288 19, 796 1 31 1,272 36| 46.0| 1,370 6 0| 100 5[ 1,288 463 0 1 4| 390 3 0 427
VE Mg T 241. 60 26, 998 12, 570 1 57| 1,157 20| 38.7| 1,460 5 0 90 1 652 138 27 1 2] 393 78 1 12
E oM W 214. 31 42,783 17, 447 1 64| 1,482 20| 35.8| 1,652 19 0 48 70 2,008 1,472 0 26 51| 355| 113 0 81
i) 170. 13 44, 440 18, 782 1 49| 1,253 16| 37.2| 1,323 21 1 44 0 957 369 0 8 46| 444 57 0 33
£ 5 W 28.73 41, 369 17, 169 1 10 282 2| 37.7 290 2 0 8 0 530 366 3 0 0| 147 8 0 6
B HT 20. 94 29, 566 13, 177 1 11 231 0| 39.4 240 3 0 9 1 396 200 1 2 1 173 10 0 9
W% AR ET 74. 29 7,732 3,137 1 8 344 71 39.0 379 1 1 15 1 185 17 0 2 0| 148 0 0 18
JIL - # HT 37. 25 13, 783 5, 732 1 8 255 71 41.2 290 6 0 7 1 236 76 0 1 2 63 54 0 40
W e /BT 56. 00 14, 565 5, 237 1 9 304 5| 36.6 330 4 0 12 0 606 424 0 2 5| 147 25 0 3
/N AE BT 25.50 2, 336 1,237 1 8 141 71 40.0 156 5 1 5 1 205 142 0 9 8 42 2 0 2
= x  HT 32. 26 14, 100 6,071 1 7 176 71 38.1 202 5 2 7 0 275 140 0 0 0| 129 2 0 4
P e = 213.99 18, 484 9,708 1 56 828 9| 47.2 920 9 2 59 7 393 110 0 59 69| 132 23 0 0




